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0 (0° <6 <90°) % &ft ol & foiu s § @ =i Wi B ?

(a) cos’0—sin’0=1 (b) cosec’® —sec’0 =1

(c) sec’—tan’0 =1 (d) cot’0—tan’0=1

afe k + 2, 4k — 6 3 3k — 2 foFeh ©w A.P. & fF A w2 &, A k
II'F-I@TIT:

(@ 3 (b) -3 (c) 4 (d) -4
few mw A ABC ® PQ||BC 21 3fg PB =6 @nft.,, AP = 4 Tft. 3t AQ =38
oifi. 3, @ AC 6 o= gl - A

(a) 127, /\
(b) 20 &, P Q
(c) 6ad. /

(d) 143, 5 .

g Bl TIH T&AT A T B ANST T % HCF 1 UG 3ok
LCM ¥ 7

(a) 1:2 (b) 2:1 (c) 1:1 (d) 1:3

52 Ui i 3= THR W B TS Th TS U Tk U ATgoSAT Hehtell ST ® |

Rt TR I Uek SRt TR B4 <kl ITRIekdT B -

@ 15 0 o © @ 5
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GENERAL INSTRUCTIONS :
Read the following instructions carefully and follow them :

1.

(i)  This question paper contains 38 questions. All questions are compulsory.

(ii)  Question paper is divided into FIVE sections — Section A, B, C, D and E.

(iii) In section A — question number 1 to 18 are multiple choice questions (MCQs) and
question number 19 and 20 are Assertion-Reason based questions of 1 mark each.

(iv) In section B — question number 21 to 25 are Very Short Answer (VSA) type questions
of 2 marks each.

(v) In section C — question number 26 to 31 are Short Answer (SA) type questions
carrying 3 marks each.

(vi) In section D — question number 32 to 35 are Long Answer (LA) type questions
carrying 5 marks each.

(vii) In section E — question number 36 to 38 are case based integrated units of
assessment questions carrying 4 marks each. Internal choice is provided in 2 marks
question in each case-study.

(viii) There is no overall choice. However, an internal choice has been provided in 2
questions in Section B, 2 questions in Section C, 2 questions in Section D and 3
questions in Section E.

(ix) Draw neat figures wherever required. Take m = 22/7 wherever required if not stated.

(x) Use of calculators is NOT allowed.

SECTION - A
Section - A consists of Multiple Choice type questions of 1 mark each.
Which of the following is true for all values of 6 (0° <6 <90°) ? 1
(a) cos’@—sin’6=1 (b) cosec’ —sec’0 =1
(c) sec’0—tan’0=1 (d) cot’0—tan’0=1
If k + 2, 4k — 6 and 3k — 2 are three consecutive terms of an A.P.,
then the value of k is : 1
(@) 3 (b) -3 (c) 4 (d) -4
In A ABC, PQ||BC. If PB =6 cm, AP =4 cm, AQ = 8 cm, find the
length of AC. 2 1
(a) 12cm /\
(b) 20 cm P Q
(c) 6cm
(d) 1l4cm 5 -
The ratio of HCF to LCM of the least composite number and the least
prime number is : 1
(a) 1:2 (b) 2:1 (c) 1:1 (d) 1:3
A card is drawn at random from a well-shuffled pack of 52 cards. The
probability that the card drawn is not an ace is : 1
1 9 4 12
@ 13 ®) 3 © 13 @ 3

EZE
30/4/2 3 it [P.T.O.



10.

11.

12.

13.
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RS

& £ x

B Q P
@ ¢ aRfd , AABC~AQPR | afg AC = 6 &ft., BC = 5 &,
QR =3 3l. 3R PR =x ®, @l x & U &1 :
(a) 3.6aH. (b) 2.5@t. (c) 10 @, (d) 3.2,
Tl x°+3x—10=0F g & :
(@) 2,-5 (b) 2,5 ) 2,5 (d) -2,-5
%ﬁméﬁﬁ@@ﬁﬁw, qft  2/3 . & R, @ g samw

@ 60° (b) 45° (©) 30° (d) 90°
T g @ fog (- 6,8) A gl 2 -

@ 6 b) -6 (©) 8 (d) 10

‘d> =T % SAefIT T AR FT R ?

(a) %ndz (b) %ndz (©) %ndz ) %ndz
1 s o fog wreaes 3R sk Al ol el Hinei 1 A g
e e — 05 | 510 | 10-15 | 15-20 | 20-25
JESE— 10| 15 | 12 | 20 | o
@ 15 (b) 25 (©) 30 d) 35

9 Fefl. o & U o9 % kg W 41 S, g foua w fog @ g9 W @i TS
T3t @ A R

(a) 40 @, (b) 9 T (c) 413, (d) 50 @t

& e oTfa H, O 99 H g R PQ I H Sfaw 71 A P W Tt W@
PR, Sfiat PQ @ 50° =T =0T &4Tcht 8, a1 LPOQ =it 71T 2 :

@) 50° = . >
(b) 40°

© 100° ©

) 130° Q

FECE
4 e
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13.
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[
A 6 cm C R

Q P
B
In the given figure, AABC~AQPR. If AC=6 cm, BC=15 cm,
QR =3 cm and PR =x; then the value of x is :

(a) 3.6cm (b) 2.5cm (c) 10cm (d) 3.2cm
The roots of the equation x*+ 3x — 10 =0 are :
(@ 2,5 (b) -2,5 (¢) 2,5 (d) -2,-5

If a pole 6 m high casts a shadow 243m long on the ground, then
sun’s elevation is :

(a) 60° (b) 45° (c) 30° (d) 90°
The distance of the point (— 6, 8) from origin is :

(a) 6 (b) -6 (c) 8 (d) 10
What is the area of a semi-circle of diameter ‘d’ ?

1 0 1 4 1 4 LY

(a) T nd (b) 1 nd (©) g nd (d) > nd
For the following distribution :

Class 0-5 5-10 | 10-15 | 15-20 | 20-25

Frequency 10 15 12 20 9

The sum of lower limits of median class and modal class is :

(a) 15 (b) 25 (c) 30 (d) 35

The length of tangent drawn to a circle of radius 9 cm from a point
41 cm from the centre is :

(@) 40cm (b) 9cm (c) 41 cm (d) 50cm

In the given figure, O is the centre of the circle and PQ is the chord.
If the tangent PR at P makes an angle of 50° with PQ, then the
measure of ZPOQ is :

R P
(a) 50°
50°
(b) 40°
0]
©) 100°
d 130° <

[P.T.O.



14.

15.

16.

17.

18.

19.

20.
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T I H 5 A g AR 1’ 7l g 2| A 7 g Feprer i wiekdr,
Tg freprem il wRERar A fA T R, @ h wEE R

(@) 18 b) 15 © 10 (d) 20

afe o, B g sgwe x*~1 & =i &, @ (o + B) 1 HH B -

(a) 2 (b) 1 (c) -1 (d) 0
Hﬁa,BE@%p(x)=4X2—3x—7%W§Fﬁ(éJr%)Eh‘ltl'l’«r%:
@ 7 0 5 © 3 @ =
TR W : 2x = Sy + 6 R 15y = 6x — 18 T g @it = fasfua
wATR, T T

(a) vl=adt W@ (b) THR WY

(c) TuTd W@ (d) fo=set = Tuiat @
g (-1,7) Fr x-sm T gl 2 -

@ -1 (b) 7 ) 6 d) /50

o : gva T 19 q1 20 H UH AWK (A) F UYEIA UH dAeh-

wo (R) fean 3 | for § @ wdt forshew gfw

arfireRe (A) : a, b, c Tk A.P. & UG §T 3R 3T hadd R 2b=a +c |

ek (R) : Teell ‘n’ fowm wrehd deet w1 A n” 2 |

(a) e (A) dum RO (R) gFT T | R0 (R) Afdrepe (A) it
ST Ll 8 |

(b) ke (A) dum HRU (R) gHT @ & | &R0 (R) fewed (A) it
TS &l LT 7 |

(c) AR (A) I & g HRUT (R) 318 2 |

(d) AR (A) 3 g &l &R (R) T 2 |

arfﬁ%sm(A):qmFﬁq—aﬁﬁﬁt%lw@ﬁa@fmﬁw%%l

e (R) + T e efiv-ad i 53 wfem @ 61 e 2 2

(a) AU (A) q9T HRO (R) gHT TF & | FRO (R) Afpeq (A)
ST Ll ¢ |

(b) e (A) q1 FRU (R) AT T & | RO (R) Afeped (A) H

AT Tl Ll 2 |

(c) oA (A) a8 g R (R) 37T 7 |
(d) e (A) 39 g Jafh &wRU (R) T 2 |

FECE
6 v
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15.

16.

17.

18.

19.

20.

30/4/2

e

i
A bag contains 5 red balls and n green balls. If the probability of
drawing a green ball is three times that of a red ball, then the value of
nis:

(a) 18 (b) 15 (c) 10 (d) 20
If o, B are zeroes of the polynomial x°~1, then value of (o + P) is :
(@) 2 (b) 1 (c) -1 (d) 0

If a, B are the zeroes of the polynomial p(x) = 4x* — 3x — 7, then

1, 1).
-+ = :
(a Bj is equal to

@ 7 0 5 © 3 @ =

The pair of linear equations 2x = 5y + 6 and 15y = 6x — 18 represents
two lines which are :

(a) intersecting (b) parallel

(c) coincident (d) either intersecting or parallel

The distance of the point (-1, 7) from x-axis is :

(a) -1 (b) 7 (c) 6 d) /50

DIRECTIONS : In the question number 19 and 20, a statement of
Assertion (A) is followed by a statement of Reason (R). Choose the
correct option out of the following :

Assertion (A) : a, b, care in A.P. if and only if 2b=a + c.
Reason (R) : The sum of first n odd natural numbers is n”.

(a) Both Assertion (A) and Reason (R) are true and Reason (R) is
the correct explanation of Assertion (A).

(b) Both Assertion (A) and Reason (R) are true and Reason (R) is
not the correct explanation of Assertion (A).

(c) Assertion (A) is true but Reason (R) is false.
(d) Assertion (A) is false but Reason (R) is true.

Assertion (A) : The probability that a leap year has 53 Sundays is %

Reason (R) : The probability that a non-leap year has 53 Sundays is %

(a) Both Assertion (A) and Reason (R) are true and Reason (R) is
the correct explanation of Assertion (A).

(b) Both Assertion (A) and Reason (R) are true and Reason (R) is
not the correct explanation of Assertion (A).

(c) Assertion (A) is true but Reason (R) is false.
(d) Assertion (A) is false but Reason (R) is true.
7 oiol
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Qs - 9d

QU - WY A’fq G-I (VSA) THR & T3 & | Tk TT S 2 Fh 2 |

21.

22.

23.

24.

25.

5

A) A 1 Hif + — cot” 45°+ 2 sin90°
(A) cot230°  sin260°
AYAT
(B)qﬁ-‘«’lﬁaﬁm9351\?&sinOZCOSO%,?ﬁtan26+cot26—2<‘=h‘rﬂﬂ
Ima i |

wh gy fagem @ IR 3TN Sar 7| e @ SAfte we fua e i
TTRehAT AT ShITSTT |

S &AW 2:3 % U § 8§ 3 IR LCM 180 2 | 37 TEAsti &1 HCF
T g ?

(A) feoma Tt 2x° — 9x + 4 = 0 % Hedl o1 AT N PHGS 19 HIfT |
AYAT

(B) feama weiertor 4x* — 5 = 0 =1 fafempent (discriminant) 3 RIS 3fit
TSRO o Hl Sl Fehfd fofay |

afe Tga p(x) = 6x° + 37x — (k — 2) F1 T YAH G I F oA

g, a1 k =1 99 J1d <hifor |

Qug - T

@UE - TH AY-3ITR (SA) THR o I & 3T IAF U9 3 Sk A1 2 |

26.

27.

28.

29.

T Tehgd gai i Brsame 5 aft. ok 3 wft. 8| 5 g4 i S, S B g9
! TS KLl 2, h Fers [ hIfe |

g i for foreft amar foig @ forelt 90 W &=t T2 @ Towt W@t & = &
H1oT Tt fogeti sl e et TWTEvE gRI ey WX ITANG ShI0T 1 YL BT
2l

‘p> =1 TH FIa hifee Rreek fow fgama oftemor px(x —2) + 6 =0 % @
TR AT G & |

(A) T A.P. & g 15 UGl 1 I 750 IR YgAT U 15 2 | EHT 2047 UG
AT I |

AAAT

(B) U&7 1,000 & i Ugell fohd ¥ & TN YIAM ek AT Fd
1,18,000 %. T 1 IeHidT 2 | I 97 & 9N fohea 1 TfT & 100 =.
%1 gig a1 7, a1 3090 Tored s TRT 91 BN 7 30&T fohed o W RO
1 ferat Tfsr gohan &1 S ¢

EGE
30/4/2 8 v



EE
i
SECTION - B
Section - B consists of Very Short Answer (VSA) type questions of 2
marks each.

1

21. (A) Evaluate : +
) cot230°  sin260°
OR
(B) If 0 is an acute angle and sin0 = cos 0, find the value of

tan°0 + cot’0 — 2.

— cot?45° + 2 sin90°

22. If a fair coin is tossed twice, find the probability of getting ‘atmost
one head’.

23. Two numbers are in the ratio 2 : 3 and their LCM is 180. What is the
HCF of these numbers ?

24. (A) Find the sum and product of the roots of the quadratic equation
2x*—9x +4=0.
OR
(B) Find the discriminant of the quadratic equation 4x*— 5 = 0 and
hence comment on the nature of roots of the equation.

25. If one zero of the polynomial p(x) = 6x* + 37x — (k — 2) is reciprocal
of the other, then find the value of k.

SECTION - C
Section - C consists of Short Answer (SA) type questions of 3 marks
each.

26. Two concentric circles are of radii 5 cm and 3 cm. Find the length of
the chord of the larger circle which touches the smaller circle.

27. Prove that the angle between the two tangents drawn from an external
point to a circle is supplementary to the angle subtended by the line-
segment joining the points of contact at the centre.

28. Find the value of ‘p’ for which the quadratic equation
px(x — 2) + 6 = 0 has two equal real roots.

29. (A) The sum of first 15 terms of an A.P. is 750 and its first term is
15. Find its 20™ term.

OR

(B) Rohan repays his total loan of ¥ 1,18,000 by paying every month
starting with the first instalment of ¥ 1,000. If he increases the
instalment by I 100 every month, what amount will be paid by
him in the 30" instalment ? What amount of loan has he paid
after 30" instalment ?

EEE
30/4/2 9 it
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30. fiag g B /3w st wem R |

inA — 2sin3A
31. (A) fug it s 28 = tan A
(A) 2cos3A—cosA

JAAAT
(B) fag FifSw fe sec A (1 —sin A) (sec A +tan A) =1

©UE - g

@UE - 9§ -3 (LA) TR & T § | Tedkeh T9T % 5 37F ¢ |

32. 20 o). J9E IR 12 Ol UM A UH 39 ded § 8 Tt F=mE ek
6 T, Fse aTefl T YeETeRR TRl Sl @hadl TRl ST & | I 3 1 $a
IEIT &%a 1d I |

33. ;ﬁﬁgﬁﬁiﬂaﬁm%zoovﬁaﬁﬁ@mmwaﬁmsﬁﬁ%ﬁqm

iR == [1000- | 1500-| 2000-| 2500-/3000- | 3500- | 4000-| 4500-

(X. #) 1500 | 2000 | 2500 | 3000|3500 | 4000 | 4500 | 5000
gfEart &t 24 | 40 | 33 x | 30 | 22| 16 7
e

x T A T IR 3R g8 T ATeash IR wied @ i 3 it |
34. (A) U Hen TSHEF Uk HAR % UG d QT 2| Th 75 H. 9 TR *
¥ W @er wh =afh a HwE w 30° 3 60° T HSHHT HIUT T @l
7, Sl X o uTg il AR I W | AN TH HR e & I AW g
FR ¥ 31 9D A, q1 a1 & o= g 7@ Hig | (V3 = 1.73
SISy

3T
(B) 7. 3= 9o & TR @ T Fad el & W #1359 F07 60° 7
3T $oh UTE T T8 1ol 30° 7 | e Y SHaTs A1 it |

35. (A) @ T Tepid °H, ZLADC = /BCA 2| g SISt 7 AACB ~ AADC |
31d: BD i e 91a shiferg, afe AC = 8 asft. qem AD =3 &t |

C

AT

EGE
30/4/2 10 ot
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30. Prove that \/g is an irrational number.

. _ . 3
31. (A) Prove that SinA = 2sn°A _ tan A
2cos3A—cos A

OR
(B) Prove that sec A (1 —sin A) (sec A +tan A) = 1.

SECTION -D
Section — D consists of Long Answer (LA) type questions of 5 marks each.

32. From a solid cylinder of height 20 cm and diameter 12 cm, a conical
cavity of height 8§ cm and radius 6 cm is hallowed out. Find the total
surface area of the remaining solid.

33. The monthly expenditure on milk in 200 families of a Housing
Society is given below :

Monthly 1000- | 1500-| 2000-| 2500-/3000- | 3500- | 4000-| 4500-
Expenditure 1500 | 2000 | 2500| 3000( 3500 | 4000 | 4500 | 5000
(in%)

Number of 24 40 33 X 30 22 16 7
families

Find the value of x and also, find the median and mean expenditure
on milk.

34. (A) A straight highway leads to the foot of a tower. A man standing
on the top of the 75 m high tower observes two cars at angles of
depression of 30° and 60°, which are approaching the foot of the
tower. If one car is exactly behind the other on the same side of
the tower, find the distance between the two cars. (use V3= 1.73)

OR
(B) From the top of a 7 m high building, the angle of elevation of the
top of a cable tower is 60° and the angle of depression of its foot
is 30°. Determine the height of the tower.

35. (A) In the given figure, ZADC = ZBCA ; prove that
AACB ~ AADC. Hence find BD if AC =8 cm and AD =3 cm.

C

OR
EZE
30/4/2 11 E":ﬁ

[P.T.O.
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(B) afe forelt Brger Y wh 3ol & T o1 g1 yeedt i fu-fie fogent
W gfdeae #0 % e wes @ |t s, @ fag fifse f 3 e @
YSITC Tk & AT # forwira g1 et € |

g - ¢
WS — T H TR0l AT /TS SMUTHA 3 T & | Tedieh T ok 4 37k 2 |
36. SEIY % UM UH WA & 9 T THHRI YT AQC % R HT 7 | 98 WA
% 3G T JNHR PQRS & 9 # 715 ITH % fou ik 3w dfes@i 3
e (fom © oI ST{8R) ST BT 9Tedl & | ©d H, O o &9 4 fafgad wh
QT 2 |

NY

>X

<N
a

P 0
(=200, 0) (20%, 0)

IHIT T o IR W, HHEARGT THT o ITW GINT

(i) O =l qa fog wm =, feigati P it Q = Fcwmes swwer: (-200, 0) 3R
(200, 0) 21 PQRS U =t g4 & &rol, R 3R S o fewmes @& g ?

(i) (a) =t PQRS 1 &%t F1 & ?
HAYAT
(b) @ PQRS # fer=rui PR &t @ls o1 8 ?

(iii) afe f9g S, T@m@vs CA =+ U K:1 & fawfda =, @t K &1 9
T g, afe fag A % Fdwis (200, 800) & 7

E3E
30/4/2 12 Efﬁ
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(B) Ifaline is drawn parallel to one side of a triangle to intersect the
other two sides in distinct points, then prove that the other two
sides are divided in the same ratio.

SECTION - E

Section — E consists of three Case Study Based questions of 4 marks each.

36. Jagdish has a field which is in the shape of a right angled triangle
AQC. He wants to leave a space in the form of a square PQRS inside
the field for growing wheat and the remaining for growing vegetables
(as shown in the figure). In the field, there is a pole marked as O.

NY

> X

P 0
(=200, 0) (20(3, 0)

Based on the above information, answer the following questions :

(i) Taking O as origin, coordinates of P are (—200, 0) and of Q are
(200, 0). PQRS being a square, what are the coordinates of R
and S ?

(1) (a) What is the area of square PQRS ?
OR
(b) What is the length of diagonal PR in square PQRS ?

(111) If S divides CA in the ratio K:1, what is the value of K, where
point A is (200, 800) ?

EGE
30/4/2 13 ot

[P.T.O.



37. <& % Uk T Wawies foreRa wiferskor i mafin wefid 3 uw v
1 = W Tk AT A B AgH SHH w1 B fh, e wifd % o
TITg SATE B |

I
aTfehT &t

II

14 318

TAU % UYET, TAAHR T H g s 1 Fofa form wn, oo w
T TR o AT Uk A -JaThR &7 Afohd 21 | STRIATRR ©d o HgH I
TS AT TS U 14 SR SN 7 TR 2| T % HeM % Th AN
2 T oo & 1 =gty fomw €iel & foe |
SUUh T < AR R, FHeAfctigd gei & 3w i
(i) i & w1 et aiTy foRa § 7
(i) (a) urfehT & 3R g =gt 1 e Ft &awa fraT @ 7
Jrera
(b) T % ATH & &%l R UTIHT & o &bl H T I 2 7
(iii) @ % BgF AR wifdkT &5 & IR AR IR & F @4, 2 & U
TohTE 1 T F 1A HIC |
38. T TEal P’ 3R Q7 AU Bl H FA T x U B
IR fohehe Xy 9fd B g1 Gell  folt, g a4 &1 '8 3
hoen foFT | TR P’ A @ Wl & T shHT: 5 3R 4 L wmmee s L 6
BET H FA 9,500 & H FEHR A w1 baen Ben, (MW S
Serfeh Tl ‘Q’ 7 q WAl o folu s 4 3R 3 B 3 J
%I FA 7,370 F. T TR ¢ 1 Haar |
SUUh T o AR R, FHeAfctigd gei & 3w i
(i) STRH AT &I, T x W y FH T HH,
semfirdia &9 # = Fifw |
(i) (a) @ fofg QR AT FM R 7
Jrera
(b) TR UMY fore wa i 1feres 7 o7t foraht eifere 7
(iii) 3l I @ & 2 B &, O FoI QR TRT F 0 grft ?

E3E
30/4/2 14 ot
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38.

30/4/2

EfE
54
Governing council of a local public development authority of

Dehradun decided to build an adventurous playground on the top of a
hill, which will have adequate space for parking.

1
I PARKING
7 AREA
PLAYGROUND Units
11 l
14 Units

After survey, it was decided to build rectangular playground, with a
semi-circular area allotted for parking at one end of the playground.
The length and breadth of the rectangular playground are 14 units and
7 units, respectively. There are two quadrants of radius 2 units on one
side for special seats.

Based on the above information, answer the following questions :

(1) What is the total perimeter of the parking area ?

(1)) (a) What is the total area of parking and the two quadrants ? 2
OR
(b) What is the ratio of area of playground to the area of
parking area ? 2

(111) Find the cost of fencing the playground and parking area at the
rate of T 2 per unit. 1
Two schools ‘P’ and ‘Q’ decided to award
prizes to their students for two games of } <
Hockey X x per student and Cricket I y per o B .
student. School ‘P’ decided to award a total 13' "P :
of ¥ 9,500 for the two games to 5 and 4
students respectively; while school ‘Q’
decided to award X 7,370 for the two games
to 4 and 3 students respectively.

Based on the above information, answer the followmg ques‘uons :
(i) Represent the following information algebraically (in terms of x

and y). 1
(i1)) (a) What is the prize amount for hockey ? 2
OR
(b) Prize amount on which game is more and by how much ? 2
(111) What will be the total prize amount if there are 2 students each
from two games ? 1
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